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removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
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invigilator by the candidate before leaving the
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The situation with increasing unemployment and inflation is termed as:

a) Hyperinflation b) Galloping inflation
C) Stagflation d) Reflation
gl SRISATRT 3R ERWIfd &1 fRUTT & Hgl T &
a)  3ifd garwifd b)  WRUC HETBIfd
)  WIRIRH d) RurE

Slutsky equation deals with the decomposition of:

a) Price effects into substitution and income effects
b)  Goods into superior and inferior goods
c)  Goods into necessities and luxuries
d)  Consumer and producer surplus
HICEH! GHIBRUI & g I Hafdd &:
a) ARG 3R 31 JHTd § 4o JuTd
b) TS B dER R 7 T & aeifeu Hra @
c) TEID NaRIHdAIS AR faeydr & arfferor Har g
d)  IUHITT 3R IGH AR

Gilt-edged market means:

a) Bullion market b) Market of pure metals
c) Market of government securities  d) Market of commodities

fiTee-Tss A1dhe &7 3 &

a)  gfeRd aWIR b) I U3 BT TR
c) WHRI ufayferdl &1 SeiR d) Il B TER

The concept of Technological Dualism has been put forward by:

a) J.H. Boeke b) B. Higgins

C) A. Lewis d) H. Myint
dh1p! gaE B TR Bl fHads FRT ST W TT &:

a) T4 dd by o fRfig

c) 14 qéT\-[ d) 9. [Rie



The law of variable proportions comes into being when:
a)  There are only two variable factors

b There is a fixed factor and a variable factor

O

)
) All factors are variable
d)

gRkad-T=id ruTd &1 fa9 a9 Sifkia o 311dT § o

a)  Fad 4 IR HRB &

b)  ue RfEd HR® IR T yRadg HR® &
c) 9t R uRad-1g §

d)  URTd-g HRS HH IUS ¢d &

Variable factors yield less

Which is the "Year of Great Divide' in the history of population growth in
India?

a) 1921 b) 1951

C) 1971 d) 1991

YR T U gfg & e & 'HeH U &1 ay &I 1 87

a) 1921 b) 1951
c) 1971 d) 1991

The incidence of tax refers to:

a) Growth of taxation b) The way in which tax is collected
C) Who pays the tax ultimately d) Level and rate of taxation

B BT HR Haffd Rl 3
a) UM B gla by O REI R uHA [Farsmars

c) OlddIMBIYTAHABAIRAE d) PP TR AR R

To test the stationarity of time series analysis, which of the following test will
be used?

a) Unit Root Test
Random Walk Test

)
) Cochrane- Orcutt Iterative Procedure Test
) Durbin Watson Statistic Test

o O T
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11.

11.

U G [yl &1 RRAT &1 TR0 w1 o forg, Fafafad & 9 fog ulieon o
JUGRT foar Sem?

a) YMATcECE

b) YSHT® T

c)  Pich- e Fexied UIHIoR ¢

d)  sfeF area giferetg e

The rate at which banks lend to RBI is known as?

a) Bank rate b) Repo rate

C) Reverse Repo rate d) Interest rate
o o= IR S IRISME B YR d 8, I T hed 87

a) dPW b) W R

c) Rad@xR d) wENR

According to Simon Kuznets the relationship between level of economic
development and degree of income inequality is described by a curve that is:

a) U-shaped b) Inverted U-shaped
c) L-shaped d) S-shaped

A Horcd & ATAR S [GHm & WR MR 31T SRHMr & {3 & a9
st Th dsh gIRT afvfd g Wil &:

a) Y-3H[hR b) 3T Y-3H[hR
c) TAD ABHR B d) TID AHR DI

If the coefficient of determination is 0.81, the correlation coefficient will be:

a)  is0.6561 b)  could be either +0.9 or — 0.9
c) must be positive d) must be negative

gfe FMYfRoT &1 Ui 0.81 &, A TgHaY T[Ulid &1 GRT:

a)  0.6561 b) +0.93T-09.8 Thalg
c) UPRIAD gl digq d)  THRIHSD g AT
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14.

14.

Nirmal Gram Puraskar is related with:

a) Sanitation b) Environment

C) Unemployment d) Food production
e o R fora ¥ defia &

a) Wl b) TR

c) SR d) 9 3dieA

According to Fisher-Clark Thesis which one of the following is the correct
sequence of structural shift in the process of economic development?

a)  Agriculture, Services, Industry
b)  Agriculture, Industry, Services
c) Agriculture, Industry, Foreign Trade
d)  Agriculture, Foreign Trade, Services

freR-aas N & SuR e fawma & ufthar & WRe-Td® daad &1 gl
oY Fafafad & ¥ o w1 87

a) PV, HaTY, I

b) PV, I, Harg

c) PN, I, f[a¢x AUR

d) PV, A= AUR, Yary

The principle of Maximum Social Advantage is concerned with?

a)  Taxation only

b)  Public expenditure only

C)  Public debt policy only

d)  Both Taxation and Public expenditure

3HfIHaH T aH o1 Rigid g I I=fid 82

a)  Had HAYH

b) Hdd HdHD g

c)  Had JaS-E BT A

d)  HAYF AR a1 J
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16.

16.

17.

17.

If the marginal propensity to consume is 0.8, then the value of multiplier will

be:
a) 2.5 b) 5.0

c) 02 d) 06

gfe diaia Ui Ughi 0.8 €, o 0T T HIF &1 BITI:
a) 25 b) 50
c) 02 d 06

Who defines development as a discontinuous and spontaneous change in
the stationary state which forever alters and displaces the equilibrium state
previously existing?

a) Schumpeter b) Arthur Lewis
c) Friedman d) Rostow

o ®t FRR a1 # T 3Ridd 3R Wa:Wpd URGd- & ¥U § Hi9 aRuifa
AT & O TR ¥ HIS[G Tor SaRIT Y gHM P Y gaa a1 & 3R fawfig &= ar

87
a) g b) MR YW
c) ThISSHA d)y kI

Limit price refers to the:

a) Price which maximizes the profit of the firm

b) Price which prevents entry of new firm

c) Price at which firm just starts earning a surplus over cost
d) Maximum price which the firm is allowed to charge

1 g § Iy @
a) I ol B b dTH BT fIHaH HRaT 3
b) T Ol IS BH & YA B Al &
c) TR EBH anTd ¥ 3w IR SfSid a1 (= FR <l g
d)  3ifrpdn g SR & &l TSl B B Sl §
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18.

19.

19.

20.

20.

The nation’s commodity terms of trade multiplied by the productivity index
in its export sector gives the nation'’s:

a) Income Terms of Trade

b)  Double Factoral Terms of Trade

c)  Single Factoral Terms of Trade

d)  Barter Terms of Trade

3R B! I AR B Al DI D a1 &7 § IATGHA JaBbid o 0T IR TR
1Y &1 Y firere &

a) IR P M U

b) IR P ST haed TUd

c) IR &I Thd bhaed Td

d) TR & ax] faf iy 2

Geometric mean of 3,6 and x is 6. What is the value of x?

a) 8 b) 10
c) 12 d 16
3,6 3R x BT T AT 6 g1 A x BT A HT 82
a) 8 b) 10
c) 12 d 16

Which one of the following is not one of the indivisibilities as prescribed by
Rodan for launching economic development?

a) Indivisibilities in the production function
b)  Indivisibilities in the consumption function
c) Indivisibilities of demand

d) Indivisibilities in the supply of savings

frafafea & 9 o1 onfife fawm JE H & forw e gry Fuila sifqursaarnsit
YT T8 87

a) Jdled ARG H Sffayreadr

b) WUd FURIE H SffaHTSTdr

c) TP fauTTdm

d) S9d & Yl § sifayrsad
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22.
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23.

23.

When supply of a commodity, for example agriculture commodities, react to
price with a lag of one time period due to gestation period in production,
such a phenomenon is referred to as:

a) Lag Phenomenon b) Cobweb Phenomenon
c) Inertia d) Business cycle

o9 el 9 @1 SMYfd, IaTevul & fore HiY aegefl, Iared # TR s@fy &
PRI Th THY 3T & IaTd & 1Y DA TR UfAfhar Hdl g, ol T geT B Bl
GH?IT%:

a) 3R ge by  PHgdq geT
c) SRR d)  URTH

If a quantitative variable has ‘'m’ categories, we can introduce:

a) Only 'm — 1" dummy variables
b)  Only 'm’ dummy variables

c)  Only ‘m+ 1" dummy variables
d)  Only'm 2" dummy variables

Ife U AFTHS TR | T 40”7 § oY 81 U=y € ¥ohd ©:

a) $Had TH- 1'SH ™
b)  Hdd TH SH W

c) Had 'TH+1 SHI TR
d) &had TH? SHI W

The Gini coefficient is usually defined mathematically based on the:

a) Lorenz curve b) Inflation curve
c)  Deflation curve d) Income and Expenditure curve

T 7orie @Y AR W fard et U & aRuifda farar S 8

a) ARATH b) AR b
c) fewrwHa®m d) 3 3R Y IH
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25.

25.

26.

26.

27.

27.

MEC curve in general is:

a) A vertical straight line b)  Slopes downward
C) Slopes upward d) U-shaped
R =Y 9§ THR ! 9% o
a)  UH dgad el ¥4I b) P 3R gaH aral
c) WP AR TAM d)  g-3HR

If the quantity demanded of mutton increases by 5% when the price of
chicken increases by 20% , the cross elasticity of demand between mutton
and chicken is:

a)  —0.25 b) 025

C) —4 d) 4
gfe freh &t S # 20% &I 9fg BF W T B HiT St A 5% §¢ oIt &,
e 3R fad & o Hiv &t 1y ad o

a) —-0.25 b) 0.25
C) —4 d) 4

Which of the following scheme is a food security scheme, launched by the
Union Government as a part of the Atmanirbhar Bharat Package:

a) PM-FBY b) PM-GKAY

c)  PM-GSY d  PM-JJBY

frafaRad @ O o Ot Ao Ue QT GR&f AT 6, ol g IRBR gRT STATTHR
HRA Ubol & T HIT & &Y H Y& [ha1 171

a) UiH-UhsIarE b)  UEH-Sidbuars
c) UltH-SiTgdrR d)  digA-Sieias
The theory of Continuous Market Clearing is a proposition of:
a) New Classical Economics b) Supply Side Economics
C) Monetarism d) New Keynesian Economics

Jdd TSR JHTRNeH &1 Rigid {6y &1 U6 Udma &;

a) % AT HURRA & b) MY e IR &1
c)  Hamdiq d) Y HARE IR B
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29.

29.

30.

30.

31.

The code under GST for classification of goods is called:

a) NIC b)  HSN

c)  GSTIN d ITC

HTA & TDHUT P folE STt & dgd Bl Dl Bl oildl o
a) TSl b)  TAUYEA
c) ShugelemET d) e

In foreign exchange market, the foreign exchange rate between Indian
rupee and US dollar changes from ¥65/1$ to ¥60/1$. This refers to:

a) Appreciation of Indian currency

(o}

Depreciation of US currency

O

)
) Appreciation of Indian currency and depreciation of US currency
)

o

Depreciation of Indian currency and appreciation of US currency

fad=ft g1 o 7, yRdg Tud ok smR@t STer & s faesh fafma e 265/1¢
¥360/1$ H 9o St g1 T8 Tefid Bl o

) YR Gl i TRIE

) SR Hol BT HUg™

) YR gaT BT A 3R MRS a1 &1 Jeug™
) YR 8T T Gede SR SRS a1 &1 SHfUgea

The concept of ' Reserve Army’ is found in:

Y]

O

O

o

a)  Classical Analysis b) Hicksian Analysis
c)  Schumpeterian Analysis d)  Marxian Analysis
TRord STl B SrauRon fbd § Ur el &:

a) NG e b)  fRfRma fasersom
c)  HeRTA faayor d)  ARIard! faweyor

Assume that RBI reduces the bank rate by 1%. What will be its impact?
a) Less liquidity in the market

O

More liquidity in the market

O

)
) No change in the market
)

o

Mobilization of more deposits by commercial banks
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33.

33.

34.

34.

TH T b SRS b R T 1% D1 HHI BT | HPBT YHTT T ST

a)

O T

)
)
)

o

gToR H ®H dRdd]
TR H 3 aRadm
IR § &I SGad et

IS S gRT 31T STHT AFY e

The derivative of a constant is:

a) One
c) Infinite
s RIS &1 A &
a) U&
c) 3Hd

The expansionary momentum from the centers of economic expansion to

other regions is:

a)
c)

3o favaR & Hgl ¥ 3/ &3 § faarard) fa &

a)
c)

The process of budget making after re-valuating every item of expenditure

Spread effects
Income effect

YR UHId
S YHId

in every financial year is known as:

a)
b)
c)
d)

TS fo<iig a9 & g & Udd A & JTHIPHA b §1G olc o B UichdTl Pl

Performance budgeting
Fresh budgeting

Debit budgeting

Zero based budgeting

B 91T

a)

O T

)
)
)

o

UG §ole
GISIEEH

Sfae gufe

A TR Tl

10

b)
d)

b)
d)

b)
d)

b)
d)

Zero
Indeterminate

RS
NIRIER]

Backwash effects
Substitution effect

SHAT YHTI
Tfd=ITgT g1
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37.

37.

38.

The First Five Year Plan of India is based on:

a)  Vakil-Brahmananda Model

b)  Harrod-Domar Model

c)  Mahalanobis Two-Sector Model
d) Leontief Input-Output Model

HRd P! UYH UFasiy TreiT b Aied UR 31UTRd g

a)  IPHId-sIEG Hied

b) S-SR ATsd

¢)  HgdMIeN g-Yde Aled

d)  foRI=Iw $Yc-33cyc Hied

Laffer curve studies the relationship between:
a) Taxrate and expenditure
b)  Taxrate and Tax revenue
c) Taxrate and consumption
d) Tax rate and welfare

ATHR dch PP Sig JaY BT T BT : ©

a) FRPIRARTY

b) TR BT AR FR IR
C)  FR P! AR TUd

d) TR DI R AR B

In a Population Pyramid, each bar represents age range of:

a)  5years b) 10 years
c)  15years d)  20years

SHEReT RIS &, U aR &1 311 T &1 Ufaf-ifeid el
a) 59 b) 109
c) 159 d) 209@

The Granger representation theorem states that if two variables Y and X are
cointegrated, the relationship between the two can be expressed as:

a)  Trend stationary series b) First-difference stationary series

c)  Unit root series d) Error Correction Mechanism

11
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40.

41.

41.

YR o0 g § ol a1 B fF afe @ IR Y 3R X P T 1Y SIS 3 §,

Il & T b GdY D 39 UHR ad [T S bl 8

a)  UgRl RR g@er b)  TUA-3fR RRR gaer
c)  gMHecwc gadr d) I YR
‘Interest is a reward for parting with liquidity’ was conceived by:
a) Ohlin b) H. Knight
c) Keynes d) Marshall
"STST AR & 1Y THIGR] & o Teb 3711 8 P St [hddb gRI Bt T8 off?
a) Gﬁgﬁﬂ b) 'CEIE
c) B d)  #Axa

Choose the correct answer:
a) Quasi Rent = Total revenue earned - Total variable cost
b)  Quasi Rent = Total revenue earned - Total opportunity cost
c) Quasi Rent = Total revenue earned - Total fixed cost

d)  Quasi Rent =Transfer earnings- Total opportunity cost

e IR BT I B
a) 3l fovmn = Sifid et Ao - Hof URAd1I aRTa
b) 3 f_mam = SHfSTd HoI IoRA - A HIW AN
c) el fovmn = Sifid et Ao - Pt Ffgd arTa
d)  3ref fhRmn = MR 31- $d AR AT

The Fisher's version of quantity theory of money is given by MV= PT, where
M is money supply , V represents velocity of money in circulation, P is price

level, and T is:
a) Land b) Term deposits
c) Transactions d) Output

98 & e Rigid &1 fhRR Iemvor wadt = dtet (Mv= PT) gRT f&ar ma g, Sigf v
M) T Bt 3gfef B, dt (v) aRderor & 99 & 371 &1 ufaffda arar g, O (p) IO WR B,

ARA M AE:
a) Y@ b) &l o
c) e d)  SfI¥3cYc

12
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43.

43.

44,

44.

45.

Theory of growth developed by Schumpeter gives importance to the:

a) Role of innovation b)  Development of infrastructure

c) Role of land d) Role of labour
YHiieR gRT fawRid faer Rigid &1 78w &dl 6

a) AR & YD b)  gFAE g @ fabr

c) iyl YT d s\ B YFH

Which of the following is a measure of market concentration and monopoly
power in a particular industry:

a) Herfindahl Index b) Fisher Index
c) Chamberlin Index d) Robinson Index

fFofiad # @ o te AU IghT # I6R &1 USRIl 3R UHIUeR Ul o
T UM §:

a) gihegd s by fhERESH

o

C) TR Sy d) I S

What is the meaning of term 'heteroscedasticity’?

a)  The variance of the error term is not constant
b) Al X variables cannot be assumed to be homogenous
C) The observed units have no relation
d) The X and Y are not correlated
favafiiemar 2req &1 31 82
a) e wes oI fF=RU RR T
b) I T TR P GHFY Tt AT S Jhdl §
c) TS ShIedl b o H PIS day TS @
d) TIY IR TS Jgdeg Tal o

David Ricardo illustrated the Comparative Cost Theory in 1817 by using a:

)

Two country, two commodity model

O

Two country, one commodity model

O

)
)
) Three country, two commodity model
)

o

One country, one commodity model

13
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46.

47.

47.

48.

48.

Sfae farst 4 1817 & ToTer® arTd Rigid & forg UeR Rafd fean &

a)  dl 3w, q pAfec Hisd
b) A, b I Hisd
c) O ¥, &l eHlfec digd

d)  Td ¥, U 9% Alsd

When goods in the domestic market are sold at a high price and in the
foreign market at a low price, it is a situation of:

a) Dumping b) Duopoly

c) Perfect competition d) Oligopoly

¥ TR SOR § A1 9 HiAd IR 3R 362l SR & $8 $19d IR o1 A1l 6,
Tg fufa gt &:

a)  =fth b)  THINYBPR

c) ol ufcnfirar d)  offermuiet

Pradhan Mantri Bharat Jodo Pariyojna is related to which among the following:

a) Communication

b)  Linking of rivers

c) Development of highways

d)  Linking rail network to North-Eastern States

Y T YR e uiaiem fRafafad & 3 feay de6fid ©:

a) UdOR
by  AfeTl Bl e
c) 5N T e

d) A Acd® DI AR Al I Sel

The Purchasing Power Parity Theory of Foreign exchange determination was
propounded by:

a) David Ricardo b) Gustav Cassel

C) Jacob Viner d) Paul A. Samuelson
fae=h gat FuRor ot w3 fdd aoar Rigia fewd gr ufaufed foam mar

a)  Sfds fRersf b) KT FHA

¢)  JpdfaR d) Ul THHUTH

14
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49.

50.

50.

51.

51.

52.

52.

Who among the following has been awarded the Nobel Prize in Economics “
for analysis of markets with asymmetric information” ?

a) Richard Thaler b) Paul Krugman
c) George A Akerlof d) Robert A Mundell

fFufafaa § 9 58 "swfig STHeR! g IRl & fazayn & faur sifzma A
TNIT REBHR F T fooam mar g2

a) RadIm b)  Ufa A
c) ISl U UHAID d) e THsa

Which percentile is equivalent to the first quartile Q1?

a)  25th b)  50th
c) 75th d) 100th
DI T IS UUH Igdd Q1 & SRISR &2
a) 254l b)  50dl
c) 75dl d) 100di
Which scientific method is a bottom-up or generative approach to research?
a) Deductive Method b) Inductive Method
C) Hypothesis Method d) Pattern Method
MY & 1T S It IS TS SicH-3g a1 SFRfcd eBHIu g2
a) feefdeadys b) SSfded HYS
c)  uReeu fafd d)  Uedfafd

Which of the following is an example of non-random sampling method?
a)  Convenience Sampling
b)  Stratified Random Sampling
c)  Simple Random
d)  Cluster Random

frafafed & § oF IR-aefs® TR 5 &1 Te 3a1eR0r 87

a)  gfaur TR

b)  TWRipd U=l THATHRUI
C) W UEfHD

d) FawR¥sH

15
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53.

54.

54.

55.

55.

56.

56.

‘Goodness of Fit ' Test is also known as:

a)  T-test b)  ANOVA
C) Chi-square d) Regression

TS TP fie % &1 39 =0 & Wt ST 911 ©;

) A D)
c) W d) RO

What abbreviation is used to mention more than four authors of a research

work to be cited?
a) at al. b) et all.

c) et al. d) ot all.

Igyd fpy IF a1 MY H & IR J fE AGH! BT Iead B P AU v
& =T BT ST fhar SrdT 82

a) o3 b) Te 3|
c)  Uc 3l d) il 3fral

Failure to acknowledge the borrowed material is called (i.e., take and use of
other’s work as one’s own):

a) Acknowledgment b) Footnote
c) Index d) Plagiarism

YR o 718 IR &I WHR H A f[Awadr & Hal ol g (31Ufd, TR & &1 &l
3TAT FHSAT 3R IhT ITTNT HIAN:

a) g b) el

c) YAPID d  wefd® 9
Which one of the following is not a "Graphic Representation”?

a) Pie chart b) Bar chart

c) Table d) Histogram
fFrafafad & 3 S a1 e ufaffa 76t 37

a) UEE b) ERAE

c)  difce d)y fewmm

16
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57.

58.

58.

59.

59

60

A statistical measure based upon the entire population is called parameter
while the measured based upon a sample is known as:

a) Constant b) Finite population correction
C) Statistic d) Precision level

YUt SRR UR 31T Ueh Tifegentd AT &) URTHIeR gl Sl § STafes T A
& SMYR TR AT 977 8:

a)  WIAR b)  URfTd TS UR

c) wiRkegs d)  IRFEAR

Which of the following is the correct order of Steven's four levels of
measurement?

a) Ordinal, Nominal, Ratio and Interval
b) Nominal, Ordinal, Interval and Ratio
C) Interval, Nominal, Ordinal and Ratio
d) Ratio, Interval, Nominal and Ordinal

e & HIU & IR TRI BT el oA R A I DT I 8?
A, AT, ST 3R 3faRTd

a)

b)  FTHHE, YHER, RIS 3R U
c) SR, U, W SR T
d) UM, SIARTd, THAT 3R W

Which of the following is a format of citing bibliography in research?

a)  PAA b)  E-JOURNAL
c)  OPAC d)  APA

. MY B 3 G BT gaTa od g FEfaied § 9 S 91 UReY 87

a) Ui b)  I-oHa
c)  3iu® d) Ty

. While sampling, if a researcher decides to interview every 15" name on a

list, it is an example of:

a) Quota Sampling

b) Systematic Sampling
C) Deliberate Sampling
d) Sequential Sampling
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60.

61.

61.

62.

62.

63.

63.

AT A 9, Ife Dig AWUdHal Gt § TP 15 d 19 BT DR B BT (g
< 8, i I8 T IaTexV &:

a) Pl TYATHRUI

b)  HARRIT THATHRUI

c)  SFEHDHR THATHRUI
d) SIS THATHUI

When two or more successive footnotes refer to the same work, which one
of the following is used?

a) ibid b) et. al

c) op. cit. d) loc. cit.

9 1 g7 &1 ¥ 3fF TR PeAle Th g S & Yehid od 8, ) Fafafea 1
9 U &1 SuanT fhur Siran 82

a)  ydfad b) T 3@
c)  3ffudtamsd d) w3, el

Type | error is defined as:
a) Reject null- hypothesis when it is false
b) Reject null- hypothesis when it is true
c) Accept null- hypothesis when it is true
d) Accept null- hypothesis when it is false

TRY | I BT 39 YHR TR favam T &:
a) NG Bl SRAIBR Y od g Ted &
b) I EH W LI-URB U Bl 3RAIBR Y
c) U T W YLI-URGUH WIHR B
d)  YI-URGHTA Bl Ted g R WDHR B

For testing the significance of overall regression, the test to be used is:

a) t- test b) F-test
C) Chi-square test d) d-test
Y URATH & Hed & URI& & for, T foban S aretl udian @
a) dlew b) TBHE
c) U-EPRRCE d) SleE
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64.

64.

65.

65.

66.

606.

67.

67.

A blueprint of research work is known as:
a) Sampling Design b) Research Design
C) Research Hypothesis d) Research Approach

Y B & ic & U H S o1l 8
a) AT fEeeA b) g f&uigT
) Y URebe d)  SFTHYH EFHI
The frequency distribution of a research data which is symmetrical in shape

similar to a normal distribution but the center peak is much higher, is?

a) Skewed b) Mesokurtic
c) Leptokurtic d) Platykurtic

TS XY ST 1 gRT faaror st A fadvur & T SMeR # Al § dfdd dx
RraR 7gd it g, 87

a) foRel b) AUDICH

c)  qUIpRACH d) WP
Which one of the following is an indication of the quality of a research
journal?

a) Impact factor b) h-index

c) g-index d) i10-index
fafafaa o @ oF e MYy Ut S uax B JT@ |7

a) UHId RSP b) —TI-YIAbih

c) Sl-gAbid d)  i10-gdbih
Which is the first step in data processing?

a) Tabulation b) Coding

c) Editing d) Classification
STCT YRR § Ugell dhed IF 91 62

a)  IRUHRO by IS

c)  dued d) el
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68.

68.

69.

69.

70.

70.

71.

71.

A widely used format developed by Renis Likert is used for asking questions

about:
a) Attitude b) Personality
c) Morale d) Weight

I e gRT fasfid U a0 ¥ Ugad UReU &1 SUanT [y aR # Uy
IR+ & o foman S 8

a) b)  wfdra
c)  HHSd d) g

The two important components of research responsibility are: sincerity in
work and avoiding:

a) Plagiarism b) Writing the thesis
c) Research techniques d) Confidentiality
SEYT RTGRT & & AgdqU 9o §: B H SHFERT 3R IRe:
a)  ifgfde I’ ¥
b) iRy feraT 4
c)  IHYM dbID A
d) MU d
Temperature is measured on:
a) Ordinal scale b) Nominal scale
c) Interval scale d) Ratio scale
AU AT ST @
a)  9mR U
b) R THH
c) iR YA
d) 3o THM
A circle in which sectors represents various quantities is called:
a) Histogram b) Frequency Polygon
c) Pie Chart d) Component Bar Chart

TH g forad s fafid amnst & FRefud aRdl &, Heardl 6
a) fgeum
b) 3Tl TgYW
c) tl'lgiﬂ'cC

d) HUch IR TR
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72. The two main approaches of a research are:
a) Data collection and Data Analysis
b) Surveys and Questionnaires
c) Sampling and Data collection
d) Qualitative and Quantitative

72. U% MY P o) T ePHIUI 5
a) 3T 3R et faxawur
b)  Tder 3R yyTac
c)  THATHRU 3R ST W8
d) UM 3R D

73. The time frame during which a research study explores a situation or a
problem is called as:

a) Reference Period b) Age
C) Longitudinal d) Retrospective Time

73. 519 gy A1 & SRA T Ty g fpdt fRUTT a1 gwar &1 udl &ndT § 39
BT oIl &

a)  dgyf s@fy
b) 3
) argaed

d) g 9Ty

74. From below given list of softwares, which is related to Plagiarism checking?

a) Turnitin b) Redhat
c) Linux d) Windows
74, WIUmR B A4 & T8 G # 9, S wifefde Ikl 31 Sl 4 Heifid 52
a)  cfifed
b)  s@IE
c) fomem
d) fds
75. Facts or recorded measures of certain phenomenon (things or events) are
known as:
a) Data b) Purpose
c) Market intelligence d) Knowledge
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75.

76.

76.

T7.

77.

$3 "e1sf &Sl a1 ges) & T a1 gol A & =Y H ST ST 8

a)
b)
c)
d)

S|
e
SR GfthaT
I

The sampling procedure in which each element of the population has a

fixed probabilistic chance of being selected for the sample is known as:

a)
b)
c)
d)

Non- Probability Sampling
Probability Sampling
Convenience Sampling
Judgemental Sampling

TEATHRT UfehdT fod 88 & Ude ded & AGA & U g4 S &1 T [Afgd
YT HHTGH 8, P Hel Al &;

d)

TR-GHTSH T THATHRU]
HHTIT THATHRUT
i TR
RS TLATHRUT

The survey question about marital status, to be answered as married or

unmarried is an example of a(n):

a)
b)
c)
d)

Dichotomous Variable
Unknown Variable
Dependent Variable
Continuous Variable

Jared UG & IR H Fagmr gy, e I faared a1 sifdaied & U & fear
W 8, U8 {59 T 3eE0 &

a)
b)
c)
d)

FEISLEIER
SR TR
3 =R
Idd =R
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78.

78.

79.

79.

80.

80.

Testing of a questionnaire on a small sample of respondents to identify and
eliminate potential problems is known as:

a) Pilot Testing

b) Judgement

C) Scale

d) Data

GUTFAT TERASH B Ugd™ A 3R 3¢ THIW HRA & QT IURGITS] & T BIc
Y A W TS YYTIe & U101 & =0 H ST il 6

a)  URcc Wigm

b) g

c) Whd

d  3al

All of the following are types of variables, EXCEPT:

a) Continuous b) Categorical

C) Constant d) Dependent
frafafed & 9 91t @R & YR 8, Riar oo

a)  Hdad by  uilrd

c) gad d) oty

When a researcher has made the decision to conduct a survey using a
sample of the population, the FIRST step in the selection of the sample is to:

a) Define the target population

b) Determine the sample size

C) Select the actual sampling units
d) Select a sampling frame

d U MYl A SR & T BT IYINT HRb A& B &1 fAuig feran g, <l
T & 99 § Ugdl heH ©;

a) & SMETdl B uRHINd &Y

b)  THAT AR FuiRd &<

c)  dRdld® T SHIAl Bl I B
d) TP A W BT I DN
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81.

81

82.

82

83.

83

84.

A tentative proposition subject to test is called:
a) Variable b)
c) Data d)

. TRI&UT & 31ef U STt URTd & &gl SIrell o

a) GRS
b)  URGeUA
C) £
d) SIIYRTN

Readymade and readily available data is termed as:
a) Primary Data b)
c) Organizational Data d)

. (SIS SR M ¥ IUASY ST I FHgl ol o

a)  ufe gal
b)  HfddTd Ser
c)  HISATHSD ST
d)  Hefdes Sa

Assigning numerals or other symbols to the categories or responses is

called:
a) Editing b)
c) Transcription d)

Hypothesis
Concept

Personal Data
Secondary Data

Coding
Tabulation

. Sfora a7 ufafsrarait & forw s a1 3/ Uit ol AfEY BT Hearar &

a)
b)

Which of the following describes a Meta-Analysis?

a)
b)
c)
d)

RIS

Analyze very large studies

Analysis of the methods of statistical analysis

Establish external validity

Detect trends across studies that may have used different procedures,
number of participants, types of control procedures and different forms

of measurement
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84

85.

85.

86.

86.

87.

87

. Fgfaiad & I o9 Aer-fonayur o1 aufa Har g2

a)  §gd ¥ ATl B fARATT B

b) TieTeig fagawu & adie! &1 fazayur

c) g Ay WIfd B

d) faftw ufsaratt, ufawifirat ot dwem, FeEr ufsansit & weR 3R AU
& fAfia Ul &1 IUANT H aTel Il &b S BT Udl Gd

Which of the following p-values will lead us to reject the null hypothesis if
the significance level of the test is 5% ?

a) 015 b)  0.10
c) 006 d)  0.025

FffEd # ¥ SF 91 p-AH g5 I URSAT Bl SRAIBR I & o IRd Ham
T Tef0T BT g TR 5% 77

a) 0.15 b) 0.10

c) 0.06 d) 0.025
Snowball sampling is the process of selecting a sample using:

a) Networks b) Groups

C) Snowballs d) Computer Programs
FNEIA AR T T BT 99 B BI UichaT &

a) Hdcdd

b) g

c) EEIEIS]

d) SR UMW
Summarizing raw data and displaying them on compact statistical tables for

analysis is known as:

a) Tabulation b) Coding
c) Transcription d) Editing

. H ST DI IRIFRG BT 3R fIzaw & foiw 3¢ Sriae gifre i arfaeel R
Y fRid A1 e ¢:
a)  GRUNHRT
by  HIFET
c) Ufdawd
d)  Jued
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88.

88.

9.

89.

90.

90.

91.

Which of the following is a correct sequence of research process?
a)  Research Design, Data Collection, Data Tabulation, Data Analysis
b) Data Collection, Research Design, Data Analysis, Data Tabulation
c) Data Tabulation, Data Collection, Research Design, Data Analysis
d)  Research Design, Data Analysis, Data Collection, Data Tabulation

fFofaied & @ S 91 MY Ufohal 31 gl 51 o7
a) 3y feuTEA, 3¢1 UUg, Sel uRuiidhrur, Sal favayur
b) ST TR, IIHYUM feuiegH, sal fazeiyu, Ser IRufteur
c) Sl IRUNGRUI, ST HUE, 3HYUH f&SgH, Sar fazeyur
d) 38y feurgH, Ser favayur, 31 4Ug, Sel Rufidhrul

The value of R? always lies between:

a) —-1to0 b) —3to3

c) —1to1l d) Oand1
R? &1 A §UR fhg &id gidT &

a) -130

b) 33

c) -131

d 03N

Which of the following is not a data collection method?
a) Research questions
b) Participant Observation
c) Unstructured interviewing
d) Postal Survey questionnaires

fafiied & 9 ®F Ser 9ug fafd 781 87
a)  SIAYFUY
b)  ufqurtt siacie

c)  IRRfd TemdR
d)  ITP A& UHTac

What is the need of reviewing the existing literature?

To find out what has already been researched in the chosen area

(e}

)
) To complete the required word count
)

O

To fulfill the requirements of bibliography
d) To collect a long list of references
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91.

92.

92.

93.

93.

94.

HioleT e @1 TH&T B DI T SaIHdT 82

a)
b)
c)
d)

T8 Ul AT & R fF g gu A A uga A Ny fpar S g1 8
3{TA D Xeq TUMT I YR B o folg

T Gl Dl HTaRGDH AT bl R R & fofw

gl B T el Yl ThA A o forg

Research related to abstract ideas and concepts is called:

a)
b)
c)
d)

Empirical Research
Conceptual Research
Quantitative Research
Qualitative Research

3T foaRY 3R SrgyRunaf § &fid U™ P gl ol o

a)
b)
c)
d)

SIHIE THYH
AN I
HIEATHD THUT
UITHD ATHYH

Which of the following principle states that, other things being equal, as the

sample size increases, the results tend to be more reliable and accurate:

a)
b)
c)
d)

Principle of Statistical Regularity
Law of Inertia of Large Numbers
Principle of Representativeness
Principle of Error

frafafed § @ o W RiGid 9dar ¢ fos, R I 99M 89 W, S-SR A
3THR dedl g, TRumH e fayg-ia 3R Il Bid ©:

a)
b)
c)
d)

Tifteae g Faftad &1 Rigia
So! G P SISl BT DI
gfafAfia &1 Rigid

e &1 Rigia

Which is not a Sampling Distribution?

a)
b)
c)
d)

Student’s 't’ Distribution
Fisher's 'F' Distribution
Poisson Distribution
Chi-square Distribution
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94.

95.

95.

96.

B T AT =0T T &2

a)
b)
c)
d)

EIEEIRGACGEUI
fhRR &1 TH' faarur
grgwl faaror
-1 faarur

What is the relationship between sample size and the standard error of the

mean?
a)
b)
c)
d)

The standard error decreases as the sample size decreases
The standard error is unaffected by sample size

The standard error increases as the sample size increases
The standard error decreases as the sample size increases

THAT ATHR 3R T St AHS S & S 7T T ]2

a)
b)
c)
d)

AT 3MTHR e & 1Y qHS Jfe °e ot §
AFS S TAT SMHR F SuHTAd §

THAT ATHR T W TAHS Ffe §¢ o1l §
THAT 3MTHR T W AHS Ffe b o1t §

Select the correct usage of in-text citation in APA style:

Experienced listeners are better able to comprehend accented speech,
regardless of the type of accent (Susan Gass and Evangeline Varonis).
Experienced listeners are better able to comprehend accented speech,
regardless of the type of accent (Gass & Varonis).

Experienced listeners are better able to comprehend accented speech,
regardless of the type of accent (Gass & Varonis , 1984).

Experienced listeners are better able to comprehend accented speech,
regardless of the type of accent (Gass and Varonis 1984).

96. TUU Uil H 39-CRe IS0 P Tal ST BT I DY

YA HIdT FERY & THR (GIE 79 3R arifer arif-) P IRarg febu famr,
IR fhT 7T HIVOT BT IgR 7T T IHSH H JeH g |

YA 4T SERU & UHR (N 3R R4 &1 Rarg by f5m1, =R fey
T YTYUT T dEdR &1 § G § 9ed g

3{Yd! YIdT TR & FHR DI U8 b faqT IR WU &I 98k &7
TR T e § (N 3R aRIfAw, 1984) |

3{Yd! YIdT TR & FHR DI U8 fhT o[ IR WU BT a8k &7
TR T Fem § (1 3R SR 1984) |
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97. The term 'Phenomenology’ is associated with the process of?

a)
b)
c)
d)

Qualitative Research
Analysis of Variance
Correlational Study

Probability Sampling

97. " TeTHAIelIS XToq fobd Tfhal & ST 87

O T

)
)
)

d)

UMD ATHYH
ICERUCANCESL]
BENELIRELZRE
HHTSI AT THATHRUI

98. What does Triangulation refer to?

Triangulation refers to the replication of findings withing settings,
using different methods of data collection or analysis

Triangulation refers to a stage of the literature reviewing process
Triangulation refers to something you use a map and compass for
Triangulation refers to the attempt to dispute prior findings

98. FBIumEH fHod Tefid 82

By Se1 Tug a1 fazauur & fafte a8l &1 SUTNT SR Wi & A1y fFshl
&1 ufaepfa &I daftid oxar g

By aifec THten ufthar & Th aRU1 &I Aafifd axdl §

Bys 39 die &1 Tefifd a1 & o [T sig AMfed iR Hu &1 Suai
A 5

By gd freen sl | faare & & T &I Yafid Hdl 8

99. Consider a hypothesis H, , where g, = 5 against H; , where g; > 5. This test

is?
a)

b)
c)
d)

Right tailed
Left tailed
Centre tailed
Cross tailed

99. TP UNSHUT R IR B3 H, , el 6=5, H, P AURId, S8l 0, > 5 8 Tg fhTepT uleur 32

FIRRIRE]
I1E U@
JR T
P T
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100. The term used to describe when research measures the variable or
dimension it is supposed to measure is:

a) \Validity

b) Reliability

C) Dependability
d) Suitability

100. Ug UM HRA & folT STAUTE o ST a1l Veg @ f OIF @ls 2Ny =R AT 3MATH HI
AT & o) I AT 1R

a)  qyd

b)  fayg-taar
c) A

d)  Iugaddi
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